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Allowable Loads for Round
Timber Poles

The following publication is a major upgrade of information for calculating and understanding the allowable
loads for round timbers based on wood type. It includes the allowable load, allowable shear, allowable bend-
ing and modulus of elasticity for four different types of Alaska woods: birch, cottonwood, Alaska hemlock
and Alaska spruce. Both Sitka spruce and white spruce are categorized as one spruce type.

What follows is a description of the basic analysis and parameters used in calculating uniform loads for
round timbers.

Hulsey has provided an enormous service in this publication and we thank him both personally and pro-
fessionally for an extensive effort benefiting all the shelter industry of Alaska and anyone who wants to

build with our native woods.

Introduction

Beam span tables are provided for five species®

of Alaska timber logs (poles): white spruce, Sitka
spruce, Alaska hemlock, birch and cottonwood.
The material properties for white spruce and Sitka
spruce are treated the same; therefore, there are four
tables (one for each species) that provide allowable
uniform loads versus span and pole diameter. Each
table includes spans from 6 feet to 33 feet and pole
diameters of 6 inches to 24 inches. Because logs are
normally tapered, the diameter listed in these tables
is the smallest diameter found on the log. Uniform
loads and support conditions are illustrated in Fig-
ure 1.

*National Grading Rules designations

— Richard D. Seifert

Loads

Each pole (log) beam is assumed to carry a uniform
load that is composed of dead load, live load and
weight of the log. Distributed live loads, LL, and
superimposed dead loads, DL, apply pressure to an
area of the roof or floor. These loads are in pounds
per square foot (psf). Except for the weight of the
log, the portion of load carried by each log consists
of the uniform pressure times the beam spacing (s)
or tributary width (feet) (see Figure 2). The result

is a value (wnet) in pounds per linear foot (plf) that
can be used in the design selection tables provided
in this document.

Whet (plf) = wDL + WLL
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Figure 1. Timber log beam span.
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Figure 2. Beam load from floor or roof increases
with the spacing (s).

Residential construction

Uniform dead load pressures are typically 15 psf for
roofs and 10 psf for floors. You should verify these
numbers for each application. Data on roof snow
loads for each location in the state is available from
the local building code or by contacting the local
building department. If the log or pole is used as

a roof beam, the amount of live load is the larger

of either 20 psf or the code specified snow load. If
your log is a floor beam, the live load is 40 psf for
residential construction. The size of log needed to
span the opening is different for each timber spe-
cies, and log diameter and size is controlled by
either strength or deflection. For example, the log
may be strong enough but deflect too much or it
may not deflect much but is not strong enough. The
net uniform load to be carried by each log is given
in Table 1.

Materials

Is a cottonwood log as strong as a white spruce log
of the same diameter? This is answered by study-
ing the material properties for each. The size of log
depends on loading, span, spacing and species.
Allowable stresses for each species are different
(this affects strength) and modulus is also differ-
ent for each species (this controls deflection). Table
2 provides the round timber strength and stiffness
properties for five different Alaska species that may
be used as pole (log) beams: white spruce, Sitka
spruce, Alaska hemlock, birch and cottonwood.

The round timber strength and stiffness properties
listed in Table 2 are based on small clear values as
reported by the American Society for Testing and
Materials (ASTM) in ASTM D2555 (white spruce,
cottonwood and birch) or on the results of small
clear testing conducted according to ASTM stan-
dards (Sitka spruce and Alaska hemlock). Allow-
able bending values were determined in accordance
with ASTM D2899, section 16.1., allowable shear
values were determined in accordance with ASTM
D2899 section 17.1 and the modulus of elasticity
was determined in accordance with ASTM D2899,
section 18.1.

Beam strength and deflection comparisons
Beams carry load through shear and bending. Some
species will carry more load than others. Table 3
provides a list of the best to the worst of the four
species used in this document. Table 3 shows that
in relation to cottonwood, birch is 144 percent
stronger in shear, 174 percent stronger in bending
and is stiffer, so for the same diameter and span, a
birch log will deflect 65 percent better than a cot-

Table 1. Net Uniform Load (Wnet) that is to be carried by the log
Uniform floor or roof pressures (psf
DL LL DL+LL DL LL DL+LL DL LL |DL+LL
10 40 50 15 50 65 15 60 75
Spacing (s) Superimposed Uniform Beam Loads (plf)
(ft) WDL | WLL | Wnet WDL | WLL | Wnet WDL | WLL | Wnet
2 20 80 100 30 100 130 30 120 150
4 40 160 200 60 200 260 60 240 300
6 60 240 300 90 300 390 90 360 450
8 80 320 400 120 400 520 120 480 600
10 100 400 500 150 500 650 150 600 750
Note: Wnet = WDL+WLL. It excludes beam weight




Table 2. Material Properties for Alaska Timbers
Allowable Stresses
Shear Fv Bending, Fv Modulus of Elasticity, E
Species (psi) (psi) (psi)
Alaska Spruce
(White & Sitka) 164 1,285 1,180,000
Alaska Hemlock 145 1,589 1,130,000
Birch 191 2,021 1,590,000
Cottonwood 133 1,160 1,028,000
Table 3. Species Comparison for Strength and Deflection
Shear F, Bending, F, Modulus, E
Coefficient % Coefficient % Coefficient %
Species G, stronger G stronger Ce as flexible
Birch 1.436 144 1.742 174 0.647 65
Alaska Hemlock | 1.090 1.370 137 0910
(é\}i?ia&ipsz?lfae) 1.233 123 1.108 11 0.871
Cottonwood 1.000 100 1.000 100 1.000 100
These species are compared to cottonwood.

tonwood log. If you compare Alaska hemlock with
Alaska spruce, hemlock is stronger in bending,
but spruce is better in shear and will not deflect as
much (see the circled values).

Allowable Beam Selection Tables

The design selection tables in this document pro-
vide allowable net load for simply supported poles
(logs). Net load (plf) needed for these tables is

the sum of the applied dead load and the applied
live load (Wt = wp+w; ). Tables for each timber
species (Tables 4 to 7) include span lengths from

6 feet to 33 feet and log diameters from 6 inches

to 24 inches. The net loads in these tables do not
exceed allowable shear stresses or allowable bend-
ing stresses and are within a roof deflection limit of
L/240.

Strength (allowable stress check)

Pole (log) beams carry a portion of floor load or
roof load, and that value depends on the pressure
loads to be carried and the beam spacing. Simply
supported beams experience shear stresses and
bending stresses. Typically, shear stresses are great-

est near wall supports and bending stresses are
greatest at midspan. Shear stresses and bending
stresses are calculated by formula (see the technical
section) for a uniform load (plf) that is supported
by the beam that is to span an opening.

Beams are strong enough provided the calculated
stresses are within the species-dependent allowable
stresses. Shear stress will sometimes control where
the span is short and the log diameter is large. Typi-
cally, bending stress controls for most spans. The
allowable load selection tables provide pole (round
log) diameters that are within both the allowable
shear stress and allowable bending stress for each
species.

Flexibility (limiting deflection check)

Once a beam is selected for strength it must be
checked for deflection. Deflection is calculated by
formula (see the technical section) using modulus
of elasticity for the timber species. Net applied load
(wpr+wrp) given in the allowable selection tables
was checked for a roof span deflection limit of
L/240. This is conservative, in that deflection limits
typically apply to live load deflections.




Calculated Deflections. Table 9 is provided to help
evaluate alternative deflection limit choices. This
table provides calculated beam deflections for a
load of 200 plf acting on cottonwood with spans
of 4 feet to 34 feet and log diameters of 6 inches to
24 inches. Information in Tables 1, 3 and 8 may be
used to calculate midspan deflections for different
loads and species.

w

A=G (ZOOplf )c

Where w is the uniform applied load (plf) on your
beam. Cy is a coefficient to correct the deflection to
your species type (see Table 3). Deflection in Table
9 was calculated using cottonwood and a uniform
load of 200 plf. This deflection is given in inches
and may be described by (Ac).

Deflection limits. If a beam is too flexible, brittle
finishes such as plaster or gypsum board may crack
and doors and windows may become inoperable.
Therefore, we must keep the maximum expected
live load deflection within an acceptable limit. The
general rule of thumb is that beams supporting
brittle finishes such as gypsum board or plaster
should be limited to a live load deflection not to
exceed the span length divided by 360. For mem-
bers supporting less brittle finishes such as tongue-
and-groove paneling, the deflection

limit is relaxed to L/240. Added floor 1.8
stiffness is now considered important
to floor performance. For example, in 16
3-Star homes, the floor live load deflec-
tion limit is L/480 and in 4-Star homes, 14
floor live load deflections are limited to
L/960. These deflection limits are illus- =
trated in Figure 3. £ 1.2
[
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The following describes how beam B
selection information may be used for E 0.8
your application. In every case, you £
should seek the assistance of an engi- E 0.6

neer.
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Figure 3. Deflection Limits versus Span.

Step 1. Determine floor or roof dead load (DL) and
the superimposed floor or roof live load
(LL).

Step 2. Find the acting beam load (plf). Multiply
log spacing by sum of (DL+LL) or use Table
1.

Step 3. Use the appropriate allowable selection
table (Tables 4 to 7) and determine the al-
lowable net uniform load for your span, log
diameter and species. If the table value is
equal to or larger than the acting load from
step 2, your pole or log beam will be within
the allowable shear and bending stresses
(it is strong enough) and deflection for the
net applied load will be within the limiting
deflection of L/240.

Step 4. If you believe the deflection limit is suffi-
cient, you are finished; otherwise use Table
9 and determine for your span and log
diameter the midspan deflection for a cot-
tonwood with a 200 plf acting load. The cal-
culated deflection is to be corrected for the
species and the applied load as discussed
above. Now check the deflection versus the
deflection limit. If it is within the limit, you
are done. Otherwise, enlarge the diameter
and repeat.

5 10 15 20 25 30 35
Span (ft)



Examples

Example 1

Consider that we want to install a roof on a 20-foot-
by-30-foot building near Fairbanks, Alaska. We
want a roof that will carry the IBC 2006 snow loads
with a L/480 live load deflection limit. We will

use white spruce timber poles spaced at 4 feet on
center to span the 20-foot width. The roof system
dead load (DL), including insulation and lights, is
assumed to be 15 psf. The roof live load (LL) is a 50
psf snow load.

Step 1. The loads acting on the roof are: DL = 15 psf,
and LL = 50 psf; DL+LL = 65 psf

Step 2. Determine the amount of load that each log
is to carry. Except for its own weight, the
load carried by each log may be found from
Table 1. It can be seen that for a DL of 15 psf,

and a LL of 50 psf, with a spacing of 4 feet,
the load that will be applied to the log is 260
plf (circled). The allowable uniform load
must be equal or greater than the applied
load.

Alternatively, the load carried by each log could
have been calculated by multiplying log spacing
and the pressure load to give

WD

4(15 psf) = 60 plf

4(50 psf) = 200 plf

WLL
Whet = Wpr + Wi = 60 + 200 = 260 plf

Step 3. Select the required log diameter. Use Se-
lection Table 6 and select the 20-foot span
vertical column until you find an allow-

Table 1. Net Uniform Load (Wnet) that is to be carried by the log
Uniform floor or roof pressures (psf
DL LL DL+LL DL LL DL+LL DL LL |DL+LL
10 40 50 15 50 65 15 60 75
Spacing (s) Superimposed Uniform Beam Loads (plf)
(ft) WDL | WLL | Wnet WDL | WLL | Wnet WDL | WLL | Wnet
2 20 80 100 30 100 130 30 120 150
4 40 160 200 60 200 260 60 240 300
6 60 240 300 90 300 390 90 360 450
8 80 320 400 120 400 520 120 480 600
10 100 400 500 150 500 650 150 600 750
Note: Wnet = WDL+WLL. It excludes beam weight.

TABLE 6. ALASKA SPRUCE ROUND TIMBER BEAMS (AS TM D2899) ALLOWABLE DESIGN LOADS, /1240

D) A (W) S @ (r) Span (feet)
Section Moment Radius of
Dia Area Weight/ft Modulus of Inertia gyration 20 21 22 23 24 25 26
(in) (sgin) (Ibs/ft) (in3) (in%) (in) Allowable uniform load in pounds per feet
6 | 283 5.7 21.2 64 1.5 15) 12 10, 8| 6| 5 4
7 | 385 7.8 33.7 118 1.75 31 26| 21 18] 15 12] 10j
8 50.3 10.1 50.3 201 2 56 47 39 33 28 24 20
9 63.6 12.8 71.6 322 2.25 93 78 66 57 48 41 35
10 | 78.5 15.8 98.2 491 2.5 145 123 105 90 77| 67 57
11 [ 95.0 19.1 130.7 719 2.75 216] 184 158, 136 117 101 88,
[[12 [1131] 2238 169.6 1,018 3 QGup| 265 228 1971 170 148 129
13 | 132.7 26.7 215.7 1,402 3.25 433] 370) 319 275 239 209 182
14 | 153.9 31.0 269.4 1,886 3.5 546 492 433 375) 327 285 250
15 | 176.7 35.6 331.3 2,485 3.75 674 608 551 500) 436 381] 335
16 | 201.1 40.5 402.1 3,217 4 821 741 671 611 558 499 439
17 | 227.0 45.7 482.3 4,100 4.25 987 891 808 735 672 615 566
18 | 254.5 51.2 572.5 5,153 4.5 1,175 1,061 962 876 800 734 674
19 | 283.5 57.1 673.4 6,397 4.75 1,385 1,251 1,135 1,033 944 866 796
20 | 314.2 63.3 785.4 7,854 5 1,619 1,462 1,327 1,209 1,105 1,013 932




able load that is equal to or larger than 260
plf. The result is a 12-inch diameter that is
controlled by the deflection limit of L/240.
The allowable uniform load for an Alaska
spruce 12-inch diameter log with a 20-foot
span is 311 plf. Values in light grey mean it
is controlled by the L /240 deflection limit.
An 11-inch log only carries 216 plf, which is
less than the acting load and will not be suf-
ficient.

Stiffen roof beams so the live load deflec-
tion is within the L /480 limit. The roof

live load from Step 2 is wy;, = 200 plf. The
midspan live load deflection is determined
from Tables 3 and 8. In Table 8 the load is
200 plf. Enter with a 20-foot span and a
12-inch diameter log. The deflection for this

Step 4.

cottonwood log is 0.69 inches. Spruce is 87
percent as flexible as cottonwood (see Table
3). Therefore, the midspan deflection is

A = (0.871)(0.69 inches) = 0.6 inches

The deflection limit from Figure 3 is 0.5
inches. Therefore, increase the diameter to
13 inches. Now, check the answer. A 13-inch
cottonwood log deflects 0.5 inches (see
Table 8). White spruce will deflect 87 per-
cent of this value or 0.44 inches.

Alternatively, the deflection could be checked by
formula (see the technical section for details). Mod-
ulus of elasticity for white spruce is given in Table
1 of the text and is E =1,180,000 psi. The moment of
inertia for a 12-inch diameter log is given in Design

Table 3. Species Comparison for Strength and Deflection
Shear F, Bending, F, Modulus, E
Coefficient % Coefficient % Coefficient %
Species G, stronger G stronger Cg as flexible
Birch 1.436 144 1.742 174 0.647 65
Alaska Hemlock 1.090 109 1.370 137 0.910 91
Alaska Spruce

(White & Sitka) 1.233 123 1.108 111 0.871

Cottonwood 1.000 100 1.000 100 1.000 100
These species are compared to cottonwood.

Table 8. Maximum deflections for a 200 plf uniform load acting on cottonwood logs

Pole Diameter (inches)

Span 6 7 8 9 10 11 | 12 | 13 14 15 16 17 18 19 20 21
(ft) Maximum midspan deflection (inches)

6 0.09 0.05 0.03 0.02 0.01 0.01 {0.01|0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
8 0.28 0.15 0.09 0.06 0.04 0.02 {0.02|0.01 0.01 0.01 0.01 0.00 0.00 0.00 0.00 0.00
10 069 037 0.22 014 0.09 0.06 [0.040.03 0.02 0.02 001 0.01 001 0.01 0.01 0.00
12 1.43 0.77 045 028 0.18 0.13 [0.09 | 0.06 0.05 0.04 0.03 0.02 0.02 0.01 0.01 0.01
14 264 143 084 052 034 028 |0.17(0.12 0.09 0.07 0.05 0.04 0.03 0.03 0.02 0.02
16 451 243 143 0.89 058 040 |0.28 (0.20 0.15 0.12 0.09 0.07 0.06 0.04 0.04 0.03
18 722 390 229 143 094 0.64 (0451033 024 0.18 0.14 0.11 0.09 0.07 0.06 0.05
[20 |11.01 594 348 217 1.43 097 |0.69 [0.50) 037 028 022 017 0.14 0.1 0.09 0.07
24 2283 1232 722 451 296 202 143 1.04 077 058 045 035 028 023 0.18 0.15
26 31.44 1697 995 6.21 4.08 278 197 143 1.06 0.80 0.62 0.49 0.39 031 0.25 0.21
28 4229 22.83 13.38 835 548 374 2.64 192 143 1.08 084 0.66 052 042 0.34 0.28
30 55.74 30.09 17.64 11.01 7.22 493 348 253 188 143 1.10 0.86 0.69 055 045 037
32 72.15 3895 22.83 14.25 935 6.39 451 327 243 185 143 1.12 0.89 0.72 058 0.48
34 91.95 49.63 29.09 18.16 11.92 8.14 5.75 4.17 3.10 235 182 143 1.14 091 0.74 0.61

6



Tables 4 — 7 and is I = 1,018 in*. Use the uniformly
loaded simple beam deflection equation to check if
this will be satisfactory (see the technical section).

5w, L(12L)®
384EI

5(200)(20)(12 x 20)
384(1,180,000)(1,018)

Amax = =(0.599 in.

The allowable deflection is given by

121

(limit) = —— mches =
480

12(20f)
480

= 0.5 inches

The calculated deflection at midspan exceeds 0.5
inches; therefore, we need to increase pole diameter
to 13 inches. The moment of inertia for a 13-inch
diameter log is 1=1,402. This gives

1,018
Apax = 0.599 ( ——) = 0.44 inches
1,402

This calculated maximum deflection of 0.44 inches
is below the 0.5-inch deflection limit. Thus, we may
use 13-inch diameter logs spaced at 4 feet on center
for a roof span of 20 feet.

Structural Engineering Concepts and
Commentary (technical section)

Mechanical Sectional Properties for Round
Beams

A pole or log's sectional properties are dependent
upon the diameter (D). Calculations and tabulated
data found in this document are based on mini-
mum diameter or diameter at the top of the log.
Mechanical (geometric) sectional properties needed
to design a round timber beam (pole or log) are
area (A), moment of inertia (I) and section modulus
(S). The cross sectional area (A) for a round timber
pole is given by the following equation:

nD?
4

A=

D is the minimum diameter of the pole, or the
diameter at the top, and 7t = 3.14. Moment of inertia
(I) is used to determine stiffness of the pole. This
property is given by the following equation:

niD*
64

Section modulus (S) is used to determine a log's
ability to resist bending. This property is given by
the following equation:

5
32
Structural Considerations
Design tables in this document were developed
using an Allowable Stress Design (ASD) approach.
Consider a simply supported uniformly loaded
beam. Once loaded, it experiences shear stresses,
bending stresses and deflects (see Figure 4). Since
beams must be both strong enough and stiff
enough, the design process consists of two parts.
First, we must check to ensure that both shear
stresses and bending stresses do not exceed the al-
lowable stresses for the selected timber species. Sec-
ond, once a beam has been selected that is strong
enough, the midspan deflection must be calculated
for the selected timber species. This deflection must
be within allowable deflection limits.

Strength. Shear attempts to distort the cross section,
which causes stress in the timber section. Mo-
ment causes the beam top to shorten and the beam
bottom to lengthen. These length changes cause
internal bending-type stresses. Typically, shear is
greatest at end supports and moment and deflec-
tion is greatest at midspan. The maximum shear
stresses (near end supports) are calculated and
compared with the timber species allowable shear
stresses. The maximum bending stresses (midspan)
are calculated and compared to the timber species
allowable bending stresses. The calculated shear
stresses and calculated bending stresses shall not
exceed the allowable stresses for the timber species
given in Table 2.

Stiffness. The beam may be sufficiently strong but
too flexible. For example, in a floor, excessive move-
ment may occur as people wall across the floor. If

a beam supports a ceiling or is used to frame over

a door or window opening, excessive deflections
may cause brittle finishes to crack or cause doors
and windows to bind or become inoperable. There-
fore, maximum midspan deflections are calculated
and compared to building code recommended al-
lowable limits.

Loads, Stresses and Deflections
Loads. Typically, log beams support uniform loads
such as those illustrated in Figures 1, 2 and 4. The




w = uniform load (lbs/ft)
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Figure 4. Reaction, Shear, Moment and Deflection.

total uniform load (w) is composed of beam self
weight (w,), superimposed dead loads (wpr) and
non-permanent loads such as snow and people
(live load, wir). These loads are expressed in
pounds per linear foot (plf).

Distributed live loads (LL) and superimposed dead
loads (DL) apply pressure to an area (see Figure

2). These loads are expressed in pounds per square
foot (psf). Uniform loads acting on the beams are

a combination of beam self weight and the super-
imposed loads. The load carried by each beam is
determined by multiplying pressure loads (psf) by
the beam spacing (s) or tributary width (feet). The
result is a value in pounds per linear foot (plf) that
can be used in the following tables to determine
the minimum diameter required for a particular
beam span and species. Typically, uniform dead
load pressures are approximately 15 psf for roofs
and 10 psf for floors. However, designers should
verify these numbers for their own particular ap-
plication. Code requires a floor live load of 40 psf
for residential construction. Roof snow loads can
be determined for various locations in the state by
contacting the local building department, review-
ing the current edition of ASCE-7, Minimum Design
Loads for Buildings and Other Structures, or studying
the current edition of the building code that has
been adopted for your region. The total uniform
load is given by the following equation:

W =W; + Wpp, + Wy,
W = Wi + Whet

where
w = Total uniform load, plf;
w; = Beam self weight, plf;

wpp = Superimposed dead load, plf;

wyp = People or snow loads, plf; and

Whet = WpL+ wip = Combination of superimposed
dead load and live loads.

The beam self weight is found by this equation:

Timber density, y(pcf)), is multiplied by the cross-
sectional area of the pole, A (square inches). Uni-
form superimposed dead and live loads are ob-
tained by these formulas:

wpr =DLxs
wip=LLxs

Uniform dead load (wp, ) carried by the beam, is
found by multiplying floor or roof pressure, DL
(psf), by beam spacing, s (feet). The uniform beam
live load, wy, is found by multiplying floor or roof
live load pressure, LL (psf), by beam spacing, s
(feet) (see Figure 2).



Reactions. Reactions are needed to size columns,
hanger brackets and other structural elements that
support the beam ends. Reactions for a simply sup-
ported uniformly loaded log beam can be deter-
mined with the following equation:

R_ WL
2

L is span length (feet), w is uniform load in pounds
per linear foot (plf) and R is the end of beam reac-
tions expressed in pounds.

Shear Stress. The cross sections of all loaded beams
resist shear. Shear stress usually governs short
beams: however, shear stresses for all spans must
be checked and compared to the allowable values
presented in Table 2. Shear stresses can be approxi-
mated with sufficient accuracy by the following
equation:

\%

f,=—=x<F,
A

Here, f, (psi) is the calculated shear stress, F, (psi)
is the allowable shear stress from Table 2, A is the
member cross-sectional area (square inches) of

the member and V (pounds) is the shear which is
conservatively equal to the reaction determined
above (see Figures 2 and 4). Note that shear stresses
are typically greatest at supports or locations where
concentrated loads are applied.

Flexure or bending stress. When a beam is subjected
to a transverse load, it deflects. As a beam deflects,
the top of the beam shortens (compression) and the
bottom stretches (tension); this is known as bend-
ing. The extreme upper and lower surfaces of the
member are where the compression and tension
stresses in the beam are greatest. In order to pre-
vent a flexural failure of a beam, bending stresses
must be checked and compared with the allowable
values in Table 2. One way to determine the bend-
ing stress in a member is to first determine the max-
imum bending moment (see Figure 4). For a simply
supported beam, this moment is in the middle of
the span and is obtained by using the following
equation:

2
M:“;_L(ft-lbs)

Here, w (plf) is the total uniform load, L (feet) is the

span and M (foot-pound) is the maximum moment
(located at midspan). This maximum bending mo-
ment is then used to calculate the expected maxi-
mum bending stress which is obtained by using the
following equation:

M (foot-pound) is the bending moment, S
expressed in cubic inches is the section modulus
given in the tables at the end of this document, f,,
(psi) is the calculated bending stress and F,, (psi) is
the allowable bending stress from Table 1. Please
note that the above equation converted the bending
moment units from foot-pounds to inch-pounds,
so no additional unit conversion is necessary. As
can be seen from the bending moment diagram

in Figure 4, moment in simply supported beams
varies from zero at the ends to maximum at the
midspan. It is the midspan moment that we must
account for.

Deflection. There are two different properties that
control the size of a structural beam member: one is
strength and the other is deflection (serviceability).
Strength is checked by selecting size so that the
actual shear stresses and the actual bending stresses
do not exceed the tabulated allowable stresses
given in Table 2.

Serviceability, on the other hand, is based on
limiting deflection to maintain the functionality

of building elements such as doors, windows and
finishes. Consider a beam that meets the allowable
shear and bending stress criteria but exceeds the
maximum defection limits. Brittle finishes such as
gypsum board and plaster may crack and doors
and windows may become inoperable. Therefore,
it is important to keep deflection within acceptable
limits based on building code requirements.

5w, L(12L)
Arnax = # = Aallowable
384EI
Amax = Maximum live load midspan deflec-
tion (inches);
Aatowable = Limiting live load midspan deflec-

tion (inches);



WLL = Uniform live load acting on the
beam (plf);

L = Span length (feet);

E = Modulus of the timber species (psi),
see Table 2; and

I =  Moment of inertia (inches?), see

Tables 4 to 7. Cross section values
are provided for pole diameters.

The general rule of thumb is that structural ele-
ments supporting brittle finishes such as gypsum
board or plaster be limited to a deflection not to
exceed the span length of the beam divided by

360. This is expressed by Ajjjowabie = L /360 where
Ajiiowable 18 the maximum deflection and L is the
span length in inches. For members supporting less
brittle finishes such as tongue and groove paneling,
deflection limits are relaxed to A,jowable = L/ 240.
These deflection limits are considered minimal
requirements. If you want a stiffer roof or floor, you
can limit the deflections to smaller deflections such
as L /480 or L/960.

Development of the Allowable Load Tables
The allowable load tables provided in this docu-
ment are based on applying a uniform load to
simply supported beams with round timber cross
sections. The ASD method was used to find an
allowable load that would not exceed an allow-
able shear stress or an allowable bending stress.
The tables provide for Alaska white spruce, Sitka
spruce, Alaska hemlock, birch and cottonwood.

In the ASD method, when a beam size is controlled
by strength, the member selected does not exceed
allowable stress levels for shear or for bending.
Typically, short spans are controlled by shear and
long spans are controlled by bending. The tabu-
lated uniform loads, in pounds per foot, are given
based on the controlling values of shear and flex-
ure and checked for a deflection limit for roofs of
Adiowable = L/240. Allowable loads were calculated

for shear, bending and the deflection limit of L/240.

The lesser uniform load of these three is shown in
the table. The condition that led to the least allow-
able uniform load (plf) is shown by color. Once you
find the net available uniform load, the available
uniform live load is:

WLL = Whet - WpDL

Here, wy is the allowable uniform live load (plf),
Wt 1S the allowable uniform load (plf) that can be
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carried by the log beam and wyy is the superim-
posed dead load in addition to the log self weight
(plf) that is acting on the log beam. Remember that
wpy is typically determined using tributary width
(beam spacing) times the weight of the structural
framing that is to be carried by the beam. This is:

wpL = 15s; (residential roofs)
= 10s; (residential floors)

Here, s (feet) is beam spacing or tributary width
(feet) that is carried by the beam. The allowable
load that can be carried by any given pole (log)
beam was calculated to meet both strength and
serviceability criteria. The strength criteria means
the section will be within allowable shear and al-
lowable flexure stresses. Allowable deflection limits
depend on the type of application.

Shear. Allowable loads were calculated to not
exceed the allowable shear stress, F, (psi), for the
timber species (see Table 1). This was done by:

(ZFVA )

Whet = I

_Wt

Here, w, is the allowable uniform design load
(plf) that can be applied to the round timber pole,
which is given by this formula:

Whet = WpL + W

wpr = Dead load supporting structure excluding
pole weight in pounds per linear foot (plf)

wir = Allowable uniform live load that can be ap-
plied to the round timber pole in pounds per

linear foot (plf)

w, = Self weight of the log in pounds per linear
foot (plf)

A = Cross-sectional area of the round pole in
square inches

L = Span of the pole in feet

Flexure. Allowable loads were calculated to not
exceed the allowable bending stress, F,, (psi) for the
timber species (see Table 1). This was done by this
equation:

8F»S
1212

Whet = ( - Wi



Again, w, is the allowable uniform design load
(plf) that can be applied to the round timber pole
and, as for shear, is given by this formual:

Whet = WpL + W

wpL = Dead load supporting structure excluding
pole weight in pounds per linear foot (plf)

wi = Allowable uniform live load that can be
applied to the round timber pole in pounds

per linear foot (plf)

w; = Self weight of the log in pounds per linear
foot (plf)

A = Cross-sectional area of the round pole

(square inches)
L = Span of the pole (feet)
S = Section modulus (cubic inches)

Deflection. The following tables were prepared for
structural members associated with roof framing
where the allowable deflection is limited to L/240.
If the allowable load based on deflection is smaller
than either the value for shear strength or the value
for bending strength, the table will provide the
allowable based on the deflection. The allowable
uniform load based on the deflection limit is given

by:

o )

1441* ) allowable) - Wy

Again, w,, is the allowable uniform design load
(plf) that can be applied to the round timber pole
and is given by this equation:

Whet = WpL + WLL

WpL = Dead load supporting structure exclud-
ing pole weight in pounds per linear
foot (plf);

WL = Allowable uniform live load that can
be applied to a round timber pole in
pounds per linear foot (plf)

W, = Self weight of the log in pounds per
linear foot (plf)

E = Modus of elasticity (psi)

I = Moment of inertia (in*)

L = Span of the pole (feet)

Aowable = L/240 = The allowable roof beam de-

flection limit (feet)
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The allowable deflection for roof beams when cor-
rected to units of inches is given by:

121
240

allowable =

Note: the allowable loads for deflection were cal-
culated to be keep net weight within the deflection
limits. This is conservative in that the net weight
includes some dead load of the superimposed
structure. If you want to determine allowable live
load (plf) for more restrictive deflection limits, use
the following equation:

384 EIl

Whet = (T)(E)(Aallowable) - Wi

WiL = Allowable uniform live load that canbe
applied to a round timber pole in
pounds per linear foot (plf)

Wi = Self weight of the log in pounds per
linear foot (plf)

E = Modus of elasticity (psi)

I = Moment of inertia (inches?)

L = Span of the pole(feet)

Aatowable = Allowable roof beam deflection limit
(feet)

If the pole (log) beam is to be used to support
brittle finishes such as gypsum board, plaster or
tile, the maximum allowable live load deflection
prescribed by code is Ajjowapte = L/360. So, to check
your beam using the tables for your span and al-
lowable uniform load, select your size and use the
above equation with the more restrictive deflection.
If you wish to use the 3-Star or 4-Star requirements,
use L /480 or L/960 for the allowable deflection in
the above equation.

Use of the Allowable Load Tables

Allowable design loads (plf) are provided for
simply supported roof timber pole roof beams.

The tables provide for 6-inch to 24-inch diameter
poles and span lengths from 6 feet to 33 feet. Allow-
able loads were calculated for white spruce, Sitka
spruce, Alaska hemlock, birch and cottonwood.

Member sizes were selected by the allowable stress
design method (ASD) and checked for deflections
so that it the beam did not exceed L/240. The table
provides the user with a net allowable load in
pounds per linear foot (plf) which is:



Whet= WpL + WL

If you wish to determine if your member will carry
the acting live load, use the table allowable net
uniform load and deduct the acting superimposed
dead load that is being carried by the beam. The
resulting allowable live load in pounds per linear
foot (plf) will be:

WLL = Whet - WpL

Wit is the allowable uniform load provided by the
table and wpy is the dead load (excluding beam
weight, w,) carried by the beam. If you wish to
make the deflection limit more restrictive, you may
check the acting uniform live load, wy;, in pounds
per linear foot (plf) so as to not exceed your deflec-
tion limit such as A, jowabie = L./480. This is done as
follows:

5w, (12L)A(L)?
Amax =L - = Aallowable (ft)
384EI
wip = Acting uniform live load that can be ap-

plied to a round timber pole in pounds per
linear foot (plf);

= Modus of elasticity (psi)

Moment of inertia (inches?)

Span of the pole (feet)

Calculated live load deflection

12
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Warning

Be sure to consult the current local building code
and the appropriate building department that is
responsible for buildings erected in your location.
If your situation is other than simply supported
(more than two supports), you should seek assis-
tance from an engineer. For this condition, shears,
moment and deflections are different than dis-
cussed in this document. We recommend before
construction that you have your design reviewed
by a professional engineer.



“qI3uanys [eanxafy Aq PI[[OIU0D JZIS = NIYA (0% /1) SUOI[FIP JOOI Aq PI[[OIFU0D 9Z1s = A313 JY3I] ‘Teays Aq pa[[o1uod azis = urpeys Aa13 yre Aoy

GGI'T [SZTT [SZET [SZ¥'T [S8S'T [Z04T [€¥8T [S66'T [99TC |8SE€C |[94SC [ve8C |S0T'€ L€V 9 98C9T | cZGel TV6 | vear | vC
£96 |690°T [PSIT [S6T'T [T6€°T |66FT [619'T [¢S4T |206'T |cZ0T |€9¢C  |e8%'T |ceLT |120e GLs LEL'ET | SP6IL 998 GGIv | €C
€08 (888 [#86 [F6OT |P1C'T |80ST |SIFT |0€ST |199°T [608°T |[446T |891°C |88€C |0%9°C gg 66711 | ¥'SH0T T6L 08¢ | T¢C
099 |I€4 |TI8 [206 [900°T |9CI'T |9¢T’T |ZT€T |chF'T |048T [914'T |€88°T |€40C |€6T°C gTs 9’6 606 T ¥ore | 1c
£8S |96S  |199 [9€Zz [ce8 [0T6  [FEOT |[FPI'T |cFCT |PSE'T  |0SPT  [€29'T (8841 [846T g 758°Z 738z ¥'99 TYIE | 0T
1€y 647 [€€S |#6S |99 |PPL  |9€8  |FF6  [C90T |SSI'T [99TT |68ET |0€ST |€69°T SLY £6€'9 749 1’68 gese | 61
ve |08¢  |pTh  |e4v  |6cS  |F6S  |899  |sSZ  |998  |WL6 €L0'T |8LL'T |86C'T |LEV'T ¢y €e1's 6L 0°¢S G¥sT | 81
9T |L6C |Tee  |14€  |9TF  [L9%  |LcS  [S6S  |949  |044 88 066  |160°T [80T°1 STy 00T% owdsid ¢y | 0sce | LT
G0t |6cC |9S¢ |98T |cee |T9e  |80%  |T9F  |ScS  |66S £89 I6Z |Z06  |v00°T i L1137 1'20¥ 6'T¥ I'10T | 91
¥ST |cZT |96 41T |#¥c  |S4T  |11€  |€se  |TOF  |6SP 9¢s 909 |0 618 e ast'e £1ee 89¢ | £9/1 | ST
€Il |ZZT  |cbT  |091 |I8T [|S0T |ceTc  |¥9T  |00E  |PBE g6¢ 9¢%  |6¢S  |419 ge 988°1 ¥69C I'ee 6'€ST | ¥1
08 |06 0T |STT  [T€T |8¥L  |69T |c6l  |0cT  [cSc 06T gee  |68¢ eley 4 gee 071 LSIT L | Leer | €1
7S |29 1z |08 16 |01 |6IT |9€T |9ST  |[641 £0T o¥c |64 |LcE € 8101 9691 9'€T L'elr | ¢t
e |IF 4% S 19 |0z 8 €6 Y40) I ford 541 991  |v6l1 8CC GL'T 614 L 01 861 066 | 11
Ic |s¢ 6c  |ve 6 |SP (4, 9 0z 8 g6 IIL  |0ST €61 i 167 86 791 g8z |01
I | L1 oz YA Vird 43 L8 47 16 09 0 €8 86 (et 443 914 cel 9¢9 | 6
o 9 3 0L T |sT 8T 1T GC 0¢ Ge [44 6 6S 4 10¢C €08 GoI1 €0s | 8
I 14 € i g L 8 0r €I ar 61 w yad €¢ SLT 81T L€ 08 g8e | £
- |1 0- 1 1 4 € i4 S L 6 IT €L 91 g1 79 (4% 6'S €8¢ | 9
3993 19d Spunod U1 peo[ WIojIun S[qeMO[Y (Ch) GU) (00 (J/5qD) (urbs) (ur)

€€ c¢ 1€ 0€ 6Cc  8C L 9¢C SC iz4 €C <C TC 0c uonjer8 eniaul Jo snMpoN PAYSM eIy EIQ

JO snipey JUSWOJA UOI}IS

(993) ueds &) M ©) %) V(@

818 [S9¢F [€64F [€cv'S [€81°9 [TIT’Z [€92'8 [FIL'6 [84S11 [#€67CL [¢8EFT [C619T [SIS'8T [0¢9Tc 9 O8COL | CZSel TV6 | veav | vC
LSE°C |06L°€ |STTY [694F |8et'S [99C°9 |69TL |9¥S'8 |/8T°01 [648°TL |60T€L [0Z8FL |Z00°ZT [998%6L| <S4S LEL'ET | SP6IL 998 | ¢GI¥ | €¢
76T |84T'c |S89°C |041% |9S4F |14¥'S |85€9 |SL¥Z |1168 66401 |S80CL [S09°EL |09S°GT [Z91°8L gg 66V'IL | ¥'SH0L T6L 08¢ | ¢C
6¥ST |8¥8'C |20T'E |¥e9’c |€SI'F |SSLY |9¢S’S (86%9 |LvL'L |68€°6 |LIOIL |[Z6€CL |8ZLFL |€SSOL| <T'S 9956 T'606 TU | V9¥E | 1¢
661°C |LSF'T |€94°C |L21e |£99°¢ |SOTY |144% 019G [689°9 |801'8 |886°6  |PFCIL |098°Cl [PIO'ST g ¥68'2 ¥'g8z ¥99 | T¥IE | 0T
T88°T |FOT'T |99€7T (89T |SS0°¢ |91S°C |480F (L08F |ceL’S |6¥69 |c6S'8  [8FIOT |909°TL |0SS‘€L| Sz¥ £6€°9 ¥€/9 I'6S | §€8c | 61
£6ST |984°T |600C |FZT'T |S6S°C (£86°C |e4¥c |S80F [148F |S06S |c0€Z (8016 |9FOL [I91°CL ¢y €61°g gus 0¢S | §¥sc | 8T
€PET |C0S'T |069'T [E16°T |P81°C |PISC |ST6'T (8EFE [10TF |cL6F |0ST'9 (9642 |I6C'6 |8F80L| ST¥ 001% e €Ly | 04TT | LT
LIT'T |0ST'T |90%'T [€66°T |8I8T [€60'T |PEPT [F98°C [£1¥' |e¥1¥ |pel’S  |L6F9 |0€C8 [6096 14 L1TE 1'20% 6Ty | 1'10T | 91T
816 |£T0'T |9ST'T [0IET |96%'T |TcLT |€00°C (8S€T |€18'C |II¥F'E€ |0TCy  |1SE'S |000°Z |SH¥'8 eLe a8¥'C €1ee 89¢ | £941 | ST
9TZ |c€8 |86 |€90T [PITT [86E°T |£T9T |ST6T |S8CT |144°T |6TF'c |8PEP (689G  [4S€% ge 988°T 769 I'ze | 6'€St | #1
9¢S |S€9 |6FZ |68 |06 |STI'T |10ST |1€ST |£281T |Z1TC |€¥LC  |08%c |ess% (L2029 erd) 07T L'STT Le | Leer | et
G8¢ [4S% |ZFS [199 (194 |Z48 |120°T |[20TT |S€¥T |chLT |9ST°T  |sesC  |64S°€ |088F ¢ 810°T 9691 9¢ el | ¢t
69¢ |0Te |€8¢ [P9F |£99 |¥/Z9 |98z |Sce6  [FOT'T |OFET |6S9°T  |SOL'T |SSZT  |8SL'E 61T 612 L0€1 861 0¢6 | 11
I8T [9IT |6ST |PI€ [P8E |4ZF [88S |€69 8T8  [S00'T |S¥TT  |08S'T [690'C |CT8T qe 6% 786 791 g8z | or
9IL |66T |49T [e0Tc |0Sc |oI€ |I6€ [00S [c09  |cez  |906 0ST'T |Z0ST |9S0°C et Tee 914 cel 9¢9 | 6
0/ |s8 |cOr |sel  |¥ST |161 |ckC |0I€  [90F €IS |S€9 £08 LS0'T  |€PPL 14 10T €08 go1 €0s | 8
6 |8 |8 |1 88  |0IT |OFL 08T [9€T  |Z1€  |ScF 0¥S £0L 696 SL1 811 L€ 08 Gg8e | 2
0c |¥c  |oe  |z€ 9% 8¢ |¥Z |96 9c1  [691  |sgT 9¢¢ ¥y 209 g1 9 (414 6'S €8z | 9
3993 13d spunod ur peoy WLIojIun S[qeMo[[y (ur) GUT) (cuT) (3/sqD  (urbs) (ur)

6L 8L L 9L ) A 2 ) SR A1 L 0T 6 8 Z 9 uoneif3 enidU[jO SNMPON HAYSIM ®AY  eIQ

JO snipey] JUSWOJN UO0I}Pa§
(3993) uedg ) (D (S) (M) V) (@

NOI11LDI1ddd 0¥21'SAVOT NOISIA HT1dVMOTTV (6682 INLSV) SNV YHIINILL ANNOY HOUIA VISVTV ¥ 419VL
VISVIV NI ONIQT1Ing

13



Yy3uanys [ernxafy Aq PI[[OIU0D JZIS = YA ‘(0% /1) SUOTIS[JIP JOOI Aq PI[[OIIU0D 9Z1s = A313 JY3I'] ‘Teays Aq pa[[o1u0d azis = urpeys Aa13 y1e Aoy

706  [996  [cEO'T [90T'T [88TT [64C°T [08€T [e6F'T (0291 [¢94T [Fc6’'l [60L°C [0T€C  [F9S°C 9 98¢91 cLeel 69 ey | ¥
€64 K¥8 906  [cL6  [ROT [T [CITT [CIET [ETVT |pFST 1691 |PS8T  ¥0T [GSTT SLS LEL'EL Sy61l 8%9 gdary | €¢
289 ez [l6z  |8¥8 |6 [I86  |6SO'T OFL'T [¥CT'T |€SE€T  BLY'T |0T9'T [€84'T [146°T g9 66711 ¥'av01 09 1°08€ | ¢C
€95 [[C9 989 |9eL 064 (IS8 |pl6 |66 |6Z0°T [SZTT  [€STT KOV'T |6PST  [CIZT GTs 956 606 LSy ¥ore | 1¢
ST [L0S  [¢9S [F29  |189 [ceL  [eeL  KS8  jog6  [€T0T  [OTT [ETTT  |9EET  [LYT S ¥S8°z ¥'98L a1y cyie | 0¢
048 607  [pSP [0S [€9S [LC9 L9 [€€L  pesL |98 Z¥6 |01 [EVL'T  [P9T'T SLY £6€9 ¥'¢L9 ¥Le g'e8T | 61
G6C  [9¢€  [¢9€  [e0F |0S¥ [P0S 999  [1T9  |9L9  |eeL 08  [I88 046 €401 4 €s1’s gaLs 9°¢e 9yeC | 81
I¢¢ [99¢ |98¢ BIE |99€ [B6E  [FF  [pOS  [£9S  [BI9 S.9  [I¥L 018 €06 Ty 00T'¥ €8y 6'6C 04cC | L1
841 [B6L  [[cC [9¥C |9ZC |0E  [B¥E [c6E  |SFF 909 19 P19 649 |£<72 i L1T°¢ 1cov g9¢ 1'10C | 91
GEl  |0ST  [89T |48 |0l [9€C  |99¢ [00€ [I¥E  [88C v 909 89S /19 SLe S8¥'C €Iee €'¢ee L9/1 | ST
00T  |ITT Gcl 0PI pST 941 |6l  [GCC  |9SC  [C6C ec 98¢ vy 109 ge 9881 ¥'69¢ €0¢ 6'est | V1
c/ 08 06 10l [PIT [6cl  [9F1T |991 881  |SIC ovc  [F8¢C 6CE 8¢ e W01 £'91¢ WAl LTer | €1
0 96 €9 |74 18 L6 €0l  BIL €l [PST LT 70T €T 94¢C € 8101 9691 671 I'elr | ¢t
€€ 3¢ €T £ig GG @9 |¥4 18 €6 90T cCl eVl G9T 61 6Le 614 £0¢el gl 0s6 | 11
i@ C LT 1€ 9¢ 18% Ly 7S c9 1L c8 S6 11T 0€T qc 167 86 ¥otr g8 | 01
s 48 o1 61 cc  |5C 6C i3 6€ S cS 19 |7 78 qTe (443 914 78 9¢9 | 6
9 \Z 6 0T cl it 1 0¢ €C LT 153 43 94 1S 4 10C €09 99 €09 | 8
N € i S 9 /. 6 0T s 71 1 0¢ (44 6C SL1 811 A% s a8e | £
0 1 1 “ C € i S 9 z 3 01 cL 71 Sl 79 [A%4 L'C €8¢ | 9
399J Iad Spunod ur peo| ULIojrun s[qeMo[[y (ur) (zur) (cuT) (3/sqp)  (urbs) (ur)

€€ (43 e 0€ 6¢ 8¢ LC 9¢ S¢ Ve €C C 1< 0¢ uonjeid3 entaujjo SnNpoN PAYSM eAIY  eIQ

JO SNIpey JUSWOJN  UOIPIG

(1993) uedg () (I) (S) (M) (V) (d)

8¥8°C |08T°C |cLS'E |0¥0F |S09F |S6T'S |IS1'9 |62’ |P19'8 |9¢¥0L [868°CL [€86FT |TETZT [966°61 9 98C91 cLsel £'64 yeay | ¥
Y0ST [964°C |IPL'EC |PSS°E |1SOY [899F |LIF'G |09€'9 |645°Z |T81°6 |6FETL |094°CL |EEL'ST [#OL ST 6L's LEL'EL SY61L 88 gary | €
681°C |SPP'C |LPL'T |801°C |e¥S'e [PLOV |CELT |F9S°S |1€99 |PE0'8 |0g6'6 |ISSTL |S6EFL (20891 g9 667'TL ¥'Sv01 ¢0s 1°08¢ | TC
206l |PCL'C [L8€T [10LT [640°€ |T¥SE |SIIY [LE8F [G94°C |S86'9 |G€98 |0%6°01 |9LLEL |60E'ST SIS 9<’6 606 L'ay 7ore | 1c
IP9'T [€€8'T |090°C |T€ET |8G9°C |LS0°C |TGS'E |9L1F |846'F [C€09 |LS¥'L |6¥F'6  |968TL [988°EL q ¥e8L ¥'982 a1y cyie | 0¢
GOV'T |0LS'T [P9LT |L66T [L4TT |619°T [PRO'E |64S°€ [99TF |0L1'S [T6€9 (6608 |06S°0T |CESCL SLY £6€9 ¥'e€L9 43 g'ese | 61
€61l |e€C'T [66F'T (9691 [PE6'T [STTT (98GC |IVOE [929°C |v6ET |€€¥'S [988°9 |€00°6 |8WC'IL Sy €qr'e gcLs 9'¢ce gysc | 81
€00'T [ITL'T (19T |LT¥T |8T9°L |€48'T |£LL1°C |09S°C |€S0°€ |004°€ |GLST |864°S |T8S°L [€€0°0L @y 00T'¥ €8y 6'6C 04cC | L1
Ge8  [€e6  |0SO'T |8SLT |9SE°T [09ST |PIST |€EL'T |€¥ST [€80°€ |€I8°E [C€8F |0T€9 [C19'8 14 L1T°¢ ey g9¢C 1’10 | 91
989 (894 |€98 846  |STL'T [PST'T |€6¥'T |9GL'T |P60T |6€ST |0FLE |086°C |90T'S |¥60°L SLe i €ree €€ L9/1 | <1
L8S €29 |I0Z  |€6Z  [906 |E€PO'T |TITL |9T¥L |TOLT [€90°C [CSS'T |sgTe  [1€TT  |494°S ge 9881 ¥'69¢ €0¢ 6'¢ST | 71
Shy |6V 099 |PE€9  |FTL [€€8 696 |TPL'T |19€T |0S9°T |T¥0T |68ST |L8€°C |919F Gce 2071 £'61¢ WA LTeL | €1
GC€  |98E |6y [86F (89S [FS9 (192 (968  [690'T |46C°T |S09T |SE0C |299°CT |6T9°E € 810°T 9691 671 €l | ¢t
4¢¢  |04C |ccE  |C8E  |LEV  |€0S  |98S 689  [€C8  |866 GeT’T [999°T |0S0°C |¥6LT SL¢C 61L £0¢el gt 0s6 | 11
€gl  [¢81 [8IC |¥9¢ |€c€ |Z/c  |6ev  |Z1S |19 |6VL £26  |9L1T [6€S'T |660°C 4 L6¥ T'86 ¥01 g8 | 01T
66 8T [cPI |41 |0IC |09C |61€ |96 |6%F  |S¥S 69  |9<8 IZL'T |625°1 qTe (449 914 78 9¢9 | 6
09 (9 L8 90T |0€T (19T [€0C (09T |[SIE  |C8¢€ vy 109 L84 |€L0°T 4 10 €09 99 €09 | 8
49 17 0S 19 (< €6 8IT |IST 861  |9SC 91¢  |c0F 9t [814 SL1 811 Lee s a8e | 4
JAS 1C 9¢ 63 6€ (54 €9 18 90T [C¥1 961  |€SC | £33N (414 Sl 79 C'1C L€ €8¢ | 9
339J Jad spunod ur peoy ULIoJIun sa[qeMo[[V (ur) ub) (cuD) (354D (urbs) (un)

61 []8 LL 91 L 48 38 (4! IL oL 6 8 L 9 uoneid3 ensdurjo SNNPON PAYSIBM eAY  eIQ

josnipey JUSWIOJA]  UOIIG
(1993) uedsg (1) () (S) (M) V) (d)

NOILLDAT4Ad 0¥21 ‘SAVOT NOISAA HTIIVMOTIV (6682d IW.LSV) SINVAL YJHIINLL ANNOY AOOMNOLLOD VISVTV S H1dVL
VMSVIV NI ONIa1Ing

14



13uams TeInxafy Aq PIOIIU0D 3ZIS = ATYM (0% /1) SUOTIDI[IP JoOoI £q PI[[OIIU0D ZIS = 313 JY3I] ‘Teays Aq Pa[[oIIu0d 3z1s = Jurpeys 4213 re( A3

Zz6 TF0T J6IT'T I0TTT [162T Je6€T [OST [629°T [6927T |26l [L0T'C [II€C [GFSC [G18T 9 98¢ 9L CTLSel T16 ¥CSr | vC
068 P16 [186 [€SOT |ECT'T [cTT’T |02€T |0€FT (PSST 69T [1S8'T [1€0'T ket  |esFT 6/'S LELE1 SH6IT £'€8 SCI¥ | €C
ov/ 864 [6S8 816 886  [090T [eST'T [8FCTT [9S€T [BZF'T 19191 [F24'1  [FS6'T  [e91°C ol 66711 ¥'SH01 99/ 1°08¢ | ¢t
29 [169  [IFZ 964 9S8 [Fte  |666  [¢80°T [941°T [¢8TT  [COFT |6€ST 9691  |£48°T 6Ts 9<'6 7606 8'69 ¥ore | 1T
OIS  [69S [8T9 P89 |4cz g6z |098  [ee6  [€TOT  |SOT'T  |60TT [TET  [C9vT  |619°T S ¥38°2 ¥'982 €'¢9 Tyie | 0T
0IF  |8SF  |90S [F9S 629 649  [peL 96 (998 |6 0T [GeT'T  [1ST'T  [S8€T SL¥ £6€°9 ¥'¢/9 18 gese | 61
cce  |19¢  [co¥ |6FF  [c0S  [F9S  [cc9  [F49 [peL 008 0/8 296 190'T [SZ1°T Sy €Ge1'g G'TLS IS Syse | 81
G [c8c  [q1€  [ese  |e6€  [FFP |00S |99  [S19  [eZ9 ceZ 1808 168 /86 STY 001'% (o LS ozce| 21
761  [L1C  [eFT  [c4T  |s0€  [FFE 188 |6€F 667  [8SS 119  [1£9 1§74 128 i YAYAS 1°20¥ 0¥ 1’102 | 91
OFL €91  [e8T [o0T [cec  [19T  |s6c  |see |18 |og¥ 00 [1SS 309 79 SL¢ S81'T cIee 9'6¢ L9 | <1
ZOT  |0cT  |S€T  [eST [c41  [p61  |oce  |0Sc  |s8T  l4ce G/E  [ech 54 ovS g 988°1 ¥'69¢ 01¢ 6'¢ST | ¥
0/ o] 6 60T [FTcl [IFT  |09T [¢8T |60T  |6€C G/T  |6I¢ 02 cey 6Te [0 £'ST1T £'9¢C £Ter | €1
1S 65 9 9z |48 66 Il |6CT  [8FT  |0Z1 6T  [8cT GoT 11¢ ¢ 810'T 9691 8'CC eIt | ¢
cc 3¢ 7y IS [8S /9 2L 38 101 KIT OCT  8ST 38 o1C 6L 614 £0€T 161 0S6 | 11
0z cT e e € (957 0S s |29 VL 06 GOT g ol (o 16¥ 86 8'GT g'8s | 01
1 C1 oT [BT  [¢C 1 0¢ {9 15% 5 S 99 82 €6 TT 443 914 8Tl 9¢9 | 6
S 9 3 6 1T it T 0z [ve 3T cc 6¢ V¥ 9G 4 10T €08 101 €0s | 8
I N 9 i C 9 S 0T [CI GT 38 |14 1 13 SL1 811 L€ 8L g8e | Z
= = 0- 0 I C c i S 9 3 01 ! G1 ST ¥9 1T 'S €8¢ | 9
399 Iad spunod Ut peoy ULIOJIUN s[qeMO[[Y (un) Gun) (cum) (J/sqr) (urbs) (ur)

€ 43 T¢ 0t  6¢ 8¢ 7 9%  Gc 74 €C 44 1< (114 uoneif3 eniouljo SNMpoJN HAYSIPM eIV  EIQ

Jo snipey JUSWOJAl UOI}IG

(395)) ueds () () S) M) W) (@

6C1c [L6¥'c Jeee’e oSt [040°S [Iv8S [8849 [€867Z [£1S°6 [GeSTT [c9T¥I [SZ0°8T [POT'Te [6€9FC 9 98C 91 TLSET T16 ¥CSY | vC
1G/°C 820 USY'S [C16'C WoFV |£€1°S [146°S [c0’Z [€4€'8 |6VI01 |6%SCI [S06'ST [F8E'6T [6¢9°CT 6/'S LEL°ET SY61L £'€8 GqI¥y | €¢
TO0Y'C |£89'C [cT0’e [cev'e [F06'S [c6¥' Y [cTT’s [cv19 [vee’s |648'8  [646°01 PI6°CT |Ge44T [#04°0C gq 6611 ¥'SP01 99/ 108¢ | TC
880C [FE€T 929 [£46'C [26€'E [F06°C |6€ST |6€CS [£9€°9 |614°Z  |9FS6 |00T°CT |928'ST [F988T erael 9<6 606 8'69 ¥ove | 1¢
0081 [€10°C 992 |69S°C [LT6'T 169€°C [816C |609F [£6F'S [999°9 |€FT'8 [0SF'OT [899°CT |[LIT4T S $58°2 ¥'982 €'€9 Tyie | oz
I$ST |c2L'T [6€6°T [961°T |£0SC |988°C |9S€’e |6V6°C |014% |114°6  |990°Z |9S6'8 (G111 [ehF'ST SLY £6€9 ¥'€/9 1°28 gese | 61
ZOST [C9%'T P91 |998°T |6Cl'c [ISF'C (IS8T |SSE’e [c00F [FS8F  [F009 [C19°Z |6S6°6  [e4S°CT Sy €ar's GTLS IS g¥se | 81T
660°'T |0€T'T [F8ET [89ST |164'T [C90°C |66€°C [FT8C |69€°C [080F [|6S0°S [01F9 [Z8€8  [¢e€¥'TT Ty 00T'% €8y L'SY 04T | LT
716 |cC0'T |IST'T |S0€T |[I6F'T WKIZT (8661 [¢S€T [908°C [F0¥'€ [c1TF [che's 0669 [82S6 i yAYA) 1'20¥ i I'10C | 91
1SZ  |0¥8  [F6 (€201 92T [CTF'T [PF9'T |9€6'T |01€C [08°C |69F'C |66€F |£62C  |6%8'Z 6L¢ G81'C €1ee 9'q¢ £9/1 | ST
809 (189 894 048 |S66  [OFIT |G€€T [c£ST |948°T [LTT  BIST |S/S'€ |649F  [64€9 g 9881 ¥'69¢ 01¢ 6'¢ST | ¥1
G8Y  [PFS |19 |69 [p6Z4 916 |£90°T [9STT |00S‘T |IT8‘T  [PSTT [098°C  [pvLe  [o01°S 6Te 071 £'STT 19T LTEL | €1
99¢  |ocky  |08F  |S¥S  |cc9 |61z |4€8 986 81T [ISFT |11 |8¥TT  [v6T  [F10F ¢ 810T 9691 8'CC €Il | CT
0cc  [p0€  [P9€  IBIF [84F ¢SS [€F9  [8SZ 906  |00T'T  |€9€T |0€4'T |S9¢T  |060°C GL'T 612 £'0€T 161 0%6 | TI
¢/ |S0C  |9¥¢  [86C |8sc  [€1¥  [¢8F  [89S 649  |ST8 CC0'T [86T°T  [104T  |0Te'e o4 16¥ 7’86 8¢l g8z | 01
OIT  [¢€T [6ST [e61 |[£€C |86C |0sc [€1¥  [v6v  |009 ¥, |SP6 3CT'T 0691 6TT (443 9TL 8Tl 9¢9 | 6
/9 08 /6 61T  [9FT  [e8T [0€C  |68c |9ve  |ocE 125 €99 698 0811 4 102 €08 101 €0s | 8
Ve 7 el 39  [¥8 GOT |eeT |11 [pee  [18¢C s¥¢  [cFF 185 76/ S/l 811 YA 8/ g8c | £
61 T 3T o 4% el 02 16 0zl 191 61C 84T G9¢ 66 Sl #9 T1e LS €8t | 9
393J Iad spunod ur peoj ULIoJTun s[qeMO[[Y (ur) (ur) (cur) G3/5dD  (ur bs) (up

6L ST LT or <L 2t €L <L TL or 6 8 Z 9 uonjeif3 endaul Jo SnNpo PHYSM eV  BIQ

JO snipey JUSWOJ\ UOI}3g
(399)) uedg () (0) S) M) W) (@

NOILDATAd 0¥¢1'SAVOT NOISHA HTAVMOTIV (6687 INLSV) SNVII YAIINLL ANNOY 3DNAdS VISVTV 9 HT1dVL
VMSVIV NI ONIdTING

15



“yr3uans [enxaff Aq pa[[OIU0D JZ1s = YA (0% /1) SUOIII[IP JOOI Aq PI[[0IFU0D 9Z1s = 4313 JY31I] ‘1eays Aq pa[[o1u0d azis = urpeys Aa13 y1e Aoy

LFOT [£4STT [28T'T [#ew'T |98S°T [€¥/T |188'T |9€0C [60C°C |S0¥'C |[Z29T [648°C |691°C |€0S°E 9 98¢ 91 T /8¢E1 16 ¥CSY | ¥
9/8 696 |PL0'T [F6I°T |IEET [88FT cS9'T (88T |I¥6'T |€11'C  |80€C |1€5°C [984C |080°¢ VA LE4°€T SH6IT L'€8 GGy | €¢
e/ |S08  |€68 €66 |ZOTT |6€TT [06€°T [99°T |S69'T [9¥8°T |410C |11TC |S€¥'C |T69°C o] 66711 ¥'SH01 99/ 08¢ | ¢z
466 |99 |egZ |8T8 |€16 |TTOT [SFI'T [F6CT [F9FT (09T |1S4'T |026'T |BIT'T |8€€C orae 95’6 7606 869 vove | 1¢
987 689  |66S [£99 |SFZ [S€8 [6€6  [6S0°T |66TT [€9€T |60ST [|999°T |€T8T |410°C S $98°Z ¥'68z €¢9 THIE | 0¢
068 |ecF  |c8F [8€S 209 [Sz9 |6SZ  [488 (146 [SOT'T  |€9TT |ZTFT |09ST |92LT SLv £6€9 ¥'¢L9 128 gege | 61
60€ |FPE  [€sc [8TF |64F [8€S |909  |989  [Z4z  |<88 TIOT [POT'T [P2eT |S9%'T Sy €er1’s STLS 18 §¥sT | 81
IF¢ [89c |00€ |9g€€ |92 |€cF |44F |0FS  [€19  |669 008  [126 9901 |zeT1 ora 4 00T T8y LSy 0zcC | L1
P8I |90C |1€c |6GC |lec |Zce |08 |61¥  |44F  |BHS €29 [81Z [ces  |696 7 L1T°¢ 1°20¥ i I'1oz | 91
8€T |GST  |#Z1 |96 |0cT |6Fc |18C |61€  |#9€  |9TF Ly |06S (8¢9 |¥¥s VAL G8H'C €1ee 9G¢ 2941 | <1
10T [PIT  |8CT  |¥HT |€9T |G8T |0TT |8€T ¢ |CI€ 8Ge  |¥IF  [08F  |199 g¢ 988'T ¥'69¢ 01¢ 6€ST | ¥
Z |18 16 FOT |8TT |P€T |[eceT  [P4T  |661  |8TC €9z [p0€  |ese  |€TF oral 07T £'ST1T 9T LTeT | €1
8% |ag €9 ¢ |28 |g6  [s0T |eTr  |TRFT  |29T /81 41T |esT  |z6C 9 810°T 9'691 8¢ Terr | a1
1€ |[9¢ ¥ 8F  |es  [g9 ez 78 96 11 6¢T  |0ST  [94T 90T 6T 617 £0€T T'61 06 | 11
8T |cc 9T 0¢ |se [oF | 7S €9 (V4 68 00T  |ZIT 8¢l o 6% 86 861 68/ | O
01 |zt P1 LT o |vT 8T €¢ 6€ 9% i €9 S/ 88 orard (44> 91/ 8Tl 9¢9 | 6
74 q Z 6 | S () S ) 61 44 9C 1€ /€ 44 e 4 10T €09 10T €0S | 8
0 I 4 € 7 9 Z 6 11 jial L1 (0r4 ¥ 6C S/1 811 L'€€ 8L g8e | 2
i = 0- 0 1 4 4 ¢ g 9 /Z 6 4! jid! ST 79 1 'S €8T | 9
1997 1od spunod ul peo] WLIOJTUN o[ EMO[[V (C33) GuI) (cun @J/5qn (urbs) (un

€€ ¢ 1€ 0¢  6¢  S¢ Zc 9C 74 74 €C 44 Tc 0¢C uoneld3 eniduljo snmpoN HAYSM eIy  BIg

wo msmﬂ.ﬂz aﬁ@EOE ﬁOmauwm

(3993) uedg (1) (I) (S) (M) V) (@

163°c [9FEY [F88F [GCS’S [66C9 [FFCZ PIP'S [€68°6 |L64TL [8C0'SL [98FFL [S0E€9L [1S9°ST [v4Z71¢C 9 98C 9T CTLGET T16 vear | ve
ICH'S [CT8C |96TF [698'F |0%S'S [cL€9 [FOV'Z €048  [F2€°0T [G96°T1 [POS'ET |£46FT |6CL'LT |466°6T G/'q 1€2°€1 SP6IT L'€8 GGy | €T
166'C [IFEC |962°C |6VCF |99SF [€£9°C [0°9 [F19°2 (6206 [F60T [C4TCL [0L'ET [¢Z9°ST [96C'ST oyl 66711 ¥'SP01 99/ 08¢ | z¢
865°C [€06'C [€9T7°C [269°C [ITTF [FF8F |629°S 6199 0682 [c9S'6  [I60TT [98%'TI [64CFT (149791 orae 956 7606 869 ¥ove | 12
1$2°C |S0S°T [918°C |£8T°C [p€9°c [¢8T'F [098'F [F12'G [€189 [ST'8  |090°0T [GCETT [¢S6°CT [ITI'ST S ¥38°Z ¥'68z €€9 THIE | 0T
616°T |GPT'C [TTF'T |6cLT [€11°C [¢8S'E WITF |L68F [8€8°S 9202 |6¥48 [IeT’OT [689°TT [£F9'ET GLY £6€9 ¥'€29 128 gege | 61
629'T [128'T L70'C [81€T [FF9°C [€70°C [8€S°e [19TF [196F [F109 |/ev'Zz  [€41°6 [16F0T [8FCTI ¥ €ar’s qTLS 18 S¥Se | 81
0££'T [1€S°T [ce'T |0S6°T |6z’ [1967C |846°C [€0S'€  |£41F  [F90'S  [c9T'9 [8€6Z [89€'6 [96°01 orai 4 001'¥ T8y LSy | osee | 1
VET'T [FLT'T [€SP'T €291 [6S8°T [E€T'C 08F'C [816C [08F'C [61CF  |61T'S  [|S199 (688 4496 i JAYAS 1'20% i I'10z | 9t
/8  [FEOT [641°T |GEC'T [FeQ’T [6S4'T [IP0°C [cO¥'C [G98°C [F¥'e  [86TF |6FF'S [8TI’Z 9098 GL'¢ G81'C €1ee 96¢ | £941 | <1
669 [18Z 686  [FSO’T |£4€T°T |GTH'T 18991 [1S6'T |LT€T [€28'C  [c6¥'e |BTFT [c64'S  |60FZ g¢ 988'T ¥'69¢ 01¢ 6°€ST | 1
VST 448 (069  [6€8 686 [6CT'T [GTET [099°T [¢98'T [8STC  [F6LT  |gFSE [9€9F  |02E9 6T¢e 07T £'ST1T £9T | LTer | €1
0S¢ [GTF 6% [T09 (684 P68 [IFOT |GCT'T [e9%'T [pLL'T [961°C  [684C |699°€  696F 9 810°T 9'691 8¢ T'err | ¢t
7% (06 [8F€ Ik 918 [6€9 [008 [cF6  [GCT'T  [G9€°T  |069'T [FFIT [008°C |978’c 6LC 617 £0€T T'6T 066 | 1T
79T  [96T [GC |98 |6FE [eeF [GFS  [869  [FF8  [FTOT  [89TT |609'T [OT‘C |c/8°C ST 6% 786 861 S8/ | 01
GOT  [9¢T [cST  |S81  [£gc  [¢8¢  |ese  |asF  |96S  |a¥L €26 C/T'T [PEST  [€60°C orard (44> 91/ 8Tl 9¢9 | 6
€9 9/  |¢6 CIT  |6ST  [F41 |0ce  [cSc  [69¢  |e6b /79 e80T |69%'1 4 102 €09 10T €0S | 8
G v [¢a G9 08 00T |£gT 9T  |STc  [88¢ 86 0SS |ocz  [€s6 S/1 81T L'€€ 8L §8e | £
ST cc @ ce v ks 9 I8 ins 7T €1 90€  lesty  [819 ST 9 1T 'S €8 | 9
199) 1ad spunod ur peoy ULIOJTUN S]|qeMO[[Y (un) Gun) (cun G3/5dD (U1 bs) (up

61 ST ZL oL ST 7L ¢L <L 1L 01 6 8 Z 9 uoneif8 eniaul Jo sSnMpoIN PAYSIBM eIy  eIQ

Jo snipey JUSWOJ\ UOI}IAS
(3993) ueds &) (00) S) M) W)@

NOILLDAT4Ad 0¥2T1 ‘SAVOT NOISAA HTIIVMOTIYV (6687d IN.LSV) SINVHL JHIINILL ANNOY MDOTNHIH VISVTV L H19VL
VISVIV NI ONIAT1INng

16



9¢0 | €¥0 | 190 | 190 | ¥£0 | 160 | PTT | €1 | C8T | S€C | OT'C | LIV | G4'S | ¥I'8 | C6'IL | 9181 | 60'6C | €967 | S6°'T6[ F€
8C0 | €€0 | OF0 | 8%0 | 890 | TLO | 680 | CI'T | €T | 98T | €F'C | LTC | 19% | 6€9 | 9€°6 | STHI | €8CC | 96'8C | STTL| <C¢€
¢C0 | 9C0 | 1€0 | £4€0 | S¥°0 | 990 | 690 | 98°0 | OT'T | €F'T | 881 | €9C | 8%'¢C | €6F | ¢CL | TOTL | ¥#9°4LT | 60°0¢ | ¥£'95[ 0€
LT°0 | 0T0 | €C0 | 8C0 | ¥E€0 | CF0 | €90 | 990 | ¥8°0 | 80T | €¥'T | TO6T | ¥9C | ¥L'C€ | 8F'G | 9€'8 |8C€CI | €8CC | 6CCH| 8C
¢r'0 | STO | 210 | IT0 | STO | 1€0 | 6€0 | 60 | €90 | 080 | 90T | €¥'T | L6T | 84C | 80F | TC9 | S6'6 | L6991 | ¥F'IE| 9C
600 | TI1'0 | €10 | STO0 | 8T'0 | €C0 | 8CT0 | S€0 | S¥0 | 890 | £40 | ¥OT | €F'T | COC | 96'C | I9¥ | CTL | CETL | €8°CC| ¥C
700 | S0°0 | 900 | 400 | 600 | TT°'0 | ¥T°0 | 4T°0 | CCO | 8CT0 | ££0 | 090 | 690 | £60 | €¥'T | 4LI'C | 8F'¢ | ¥6'9 | TIOTI| OC
€00 | €00 | ¥OO | SO0 | 900 | £00O | 600 | IT°0 | 10 | 810 | ¥C0 | €0 | S¥°0 | ¥90 | ¥60 | €1 | 6CC | 06'C | CTL| 8I
¢00 | <00 | CO0 | €00 | ¥0O | ¥OO | 900 | £00 | 600 | CI'0 | ST'O | OCO | 8CO | OF0 | 890 | 680 | €¥'T | €FC | I19%| OI
100 | 100 | TOO | €00 | CO0 | €00 | €00 | ¥OO | SO0 | 200 | 600 | CI'0O | ZT0 | 8C0 | ¥€0 | ¢S0 | ¥8°0 | €¥'1 | ¥9C| VI
100 | 100 | T00O | TOO | TO0 | TOO | €00 | CO0 | €00 | ¥O'O | SO0 | 900 | 600 | €10 | 8T°0 | 8C0 | 9¥'0 | £40 | €¥'1| <TI
000 | 000 | 000 | 000 | TOO | TI00 | TOO | TOO | TO0 | €00 | €00 | €00 | ¥00O | 900 | 600 | PI'O | CCO | 4€0 | 690| O
000 | 000 | 000 | 000 | 000 | 000 | 000 | 000 | TO0 | TOO | TOO | TO0 | 200 | <200 | ¥O0O | 900 | 600 | ST0 | 8CO 8
000 | 000 | 000 | 000 | 000 | 000 | 000 | 000 | 000 | 00O | 000 | 000 | TOO | TOO | TOO | €00 | €00 | SO0 | 600 9
(Seydur) UOnOAAP UedS-prua WNWIXEIA )
€C 0c | 6r [ ST Z 9 | ueds

wm_

_NN

[ ]

nﬁ_oﬁ_mﬁ_i_mﬁ

Nﬁ_ﬁ_oﬁ

o] %

(sayour) 1939wrel(] [0 J

s30[ poom u0330) uo Furpe peof uniojrun Jid ppz € 10J SUOIIOIS[JIp WINWIXEA '8 d[qEL

17



The tables in this publication are calculated specifically for Alaska wood species. Wood properties
can exhibit significant variation. It is suggested that when using these tables, the user engage the
services of a professional engineer.

The University of Alaska Fairbanks Cooperative Extension Service cannot be held liable for any
misuse or failure of beams used with this information.

www.uaf.edu/ces or 1-877-520-5211

Art Nash, Extension Energy Specialist. Originally written by Axel R. Carlson, former Extension Engineer and revised by J. Leroy
Hulsey and John Bannister, Department of Civil and Environmental Engineering, University of Alaska Fairbanks.

Published by the University of Alaska Fairbanks Cooperative Extension Service in cooperation with the United States Department of

Agriculture. UAF is an AA/EO employer and educational institution and prohibits illegal discrimination against any individual:
A www.alaska.edu/nondiscrimination.
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